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Question Number One: 
A. 
1- because some twins have less one-to one interaction with adults than single babies 
have, and they spend more time communicating with each other. 
2- stimuli. 
3- ‘it is tempting to believe that these twins really do make up their own secret 
language’ 
4- the baby starts to try out experimental noises and mimic sounds 
5- some twins seem to develop their own unique language. 
6- Open Answer… 
7- Open Answer… 
 
B.1- She paused to hear the skylark’s song       
    2- (swift = fast) the sunny moments slid  
 

Question Number two: 
A. 1- pensions         2- track record           3- dietary       4- makes a difference 
B. get cold feet 
C. 1- dominate              2- competent  
 
Question Number Three: 
A. 1. didn’t    6. be offered     
B. 1- is the most popular….. / / is more popular than….  
     2- if there is a connection between …………..? 
     3- doing regular exercises reduces  
 
Question Number Four: 

A. 1- If Sami had applied ………………………, he could have got it. 
     2- I wish I hadn’t lived abroad/ 
 
B. Showing Cause// reason 
 
Question Number Five: 

A.   1-believes       2- Biology      3- dentistry    4- ……, but // (important but) ……     

B. Open Answer 

C. Open Answer 


